Lattice Multiplication (A)

Use lattice multiplication to find each product.

38 9 3 6 6 3 8
2 2
1 3
3893 x 21 = 6638 x 23 =
6 6 71 6 11 1 4
9 3
3 5
6676 X 93 = 1114 x 35 =
31 8 1 2 6 7 1
8 3
7 1
3181 x 87 = 2671 x 31 =
33 1 9 9 9 4 4
8 3
9 0
3319 x 89 = 9944 x 30 =
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Lattice Multiplication (A) Answers

Use lattice multiplication to find each product.

3 8 9 3 6 6 3 8
0 ] ] 0 2 1 1 0 ] )
0 6 6 8 6 1 2 2 6 6
0 0 0 0 1 1 1 0 2 3
8 3 8 9 3 5 8 8 9 4
1 7 5 3 2 6 7 4
3893 x 21 = 81,753 6638 x 23 = 152,674
6 6 7 6 1 1 1 4
5 5 6 5 9 0 0 0 1 3
6 4 4 3 4 0 3 3 3 2
1 1 2 ] 3 0 0 0 2 5
2 8 8 1 8 3 5 5 5 0
0 8 6 8 8 9 9 0
6676 x 93 = 620,868 1114 x 35 = 38,990
3 1 8 1 2 6 7 1
2 0 6 0 8 0 1 2 0 3
2 4 8 4 8 0 6 8 1 3
2 0 5 0 7 0 0 0 0 1
7 1 7 6 7 8 2 6 7 1
6 7 4 7 2 8 0 1
3181 x 87 = 276,747 2671 x 31 = 82,801
3 3 1 9 9 9 4 4
2 2 0 7 8 2 2 1 1 3
2 4 4 8 2 2 7 7 2 2
2 2 0 8 9 0 0 0 0 0
9 7 7 9 1 9 0 0 0 0
5 3 9 1 8 3 2 0
3319 x 89 = 295,391 9944 x 30 = 298,320
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Lattice Multiplication (B)

Use lattice multiplication to find each product.

1 7 4 8 9 7 9 0
6 3
4 0
1748 x 64 = 9790 x 30 =
5 5 3 7 2 7 5 1
5 8
1 6
5537 x 51 = 2751 x 86 =
2 9 1 7 1 2 0 5
3 3
5 3
2917 x 35 = 1205 x 33 =
7 9 1 9 3 5 9 2
6 2
4 5
7919 x 64 = 3502 x 25 =
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Lattice Multiplication (B) Answers

Use lattice multiplication to find each product.

1 8 9 7 9 0
0 T4 2 T8 A 6 2 12 12 10 ] 4
16, 2 8 o, 1,1, 7L 0
0o 12 1 13 7 4 0 /10 710 /10 7
1,/ 4],/ 8 2 o, 0,0, 0o 0
I 8 7 2 3 7 0 0

5 7 2 7 5 1
2 2 T3 ) s L5 14 /10 A g
2 5/ 5 5 2 6,/ 6, 0,/ 8
0 10 70 /10 /], L 4 13 10 7 6
8, sl/5 7 3 2 2 0 6
2 3 8 7 6 5 8 6

5537 x 51 = 282,387

2

2751 x 86 = 236,586

7 1 2 0 5

0

6

0

2 3 0 0 0 1 3

1 0 3 6 0 5

1

0

0

0

5 0 0 0 1 3
5 3 3 6 0 5

2

9 7 6 5

1205 x 33 = 39,765

7 9 35 9 2

4+ 5 1075 A 6 0Tt At 10 A ,
5,2 4 4 o, 6/ 0 8,/ 4

2 13 10 713 A, L2 A4 1 A s
o 8, 6 6 8, 5/ s,/ 50

6 8 1 6 9 8§ 0 0

7919 x 64 = 506,816

3592 x 25 = 89,800
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Lattice Multiplication (C)

Use lattice multiplication to find each product.

9 9 2 7 5 1 9 6
4 5
7 9
9927 x 47 = 5196 x 59 =
5 6 3 5 8 8 5 1
1 2
1 2
5635 x 11 = 8851 x 22 =
6 2 3 0 7 3 1 0
8 5
5 7
6230 x 85 = 7310 x 57 =
9 9 6 4 1 3 1 1
5 8
0 5
9964 x 50 = 1311 x 85 =
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Lattice Multiplication (C) Answers

Use lattice multiplication to find each product.

9 7 5 1 9 6
3 0 2 4 2 0 4 3 5
4 6 6 8 8 3 5 5 5 0
6 1 4 7 4 0 8 5 9
6 3 3 4 9 0 5 9 1 4
6 6 9 6 5 6 4

5 5 8 8 5 1
0 0 0 1 1 1 1 0 )
0 5 6 3 5 1 6 6 0 2
0 0 0 1 1 1 1 0 )
6 5 6 3 5 9 6 6 0 2
1 8 5 4 7 2 2

8851 x 22 = 194,722

0 7 3 1 0

0 8 3 1 0 0 5
4 0 4 5 5 5 0

0

0 5 4 2 0 0 7
5 0 1 9 1 7 0

6230 x 85 = 529,550

0 6 6 7 0

7310 x 57 =416,670

9 4 1 3 1 1
4 3 2 5 0 2 0 0 8
4 5 5 0 0 1 8 4 8 8
0 0 0 0 0 1 0 0 5
9 0 0 0 0 1 5 5 5 5
8 0 0 1 4 3 5

9964 x 50 = 498,200

1311 x85 = 111,435
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Lattice Multiplication (D)

Use lattice multiplication to find each product.

8 8 8 0 5 1 4 2
9 2
0 0
8880 x 90 = 5142 x 20 =
3 7 5 4 7 0 8 7
5 7
1 7
3754 x 51 = TORT x 77 =
3 9 5 5 9 1 1 8
4 5
9 5
3955 x 49 = 0118 X 55 =
2 5 1 9 4 7 8 17
8 4
7 0
2519 x 87 = 4787 x 40 =
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Lattice Multiplication (D) Answers

Use lattice multiplication to find each product.

8§ 8 8 0 5 1 4 2
77 7 10 9 /10 10 /To A,
12 2/ 20 1, 0 2,/ 8,/ 4
0 /10 /10 /10 /] 0 10 710 /10 ¢
o o/ o/ 00 o, o/ o/ 00
9 2 0 0 2 8 4 0
8880 x 90 = 799,200 5142 x 20 = 102,840
37 5 4 7 0 8 7
L3 A2 12 A s 4 10 5 14 ) 4
1, "5, 55,0 s, 9, 0 6, 9
0 10 70 /10 /], 1 /10 15 4 ] 4
o 3, 1/ 5,/ 4 4, 9,/ 0,/ 6,/ 9
I 4 5 4 5 6 9 9
3754 x 51 = 191,454 7087 x 77 = 545,699
39 5 5 9 1 1 8
13 2 12 ) 4 4 /10 710 T4 A 5
1 2 6,/ 0/ 0 s, s, 515,70
2 8 4 4 4 /10 710 14 A 5
o 1,/ 15,/ 5 o s,/ s/ 5,70
3 7 9 5 I 4 9 0
3955 x49 = 193,795 9118 x 55 =501,490
2 5 1 9 4 7 8 7
L4 10 17 A g L2 13 12 A
2 6l 0 8 2 1, 6 8,/ 2,/ 8
L 13 10 716 A 4 0 10 710 /10 /¢
1 4, 5 1,/ 3 o o/ o/ 0,0
9 1 5 3 I 4 8 0
2519 x 87 =1219,153 4787 x40 = 191,480
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Lattice Multiplication (E)

Use lattice multiplication to find each product.

5 3 4 0 6 7 4 5
4 6
4 >
5340 x 44 = 6745 x 62 =
3 1 3 6 4 6 0 6
2 4
1 2
3136 x 21 = 4606 x 42 —
9 3 9 0 2 8 1 9
8 3
5 7
9390 x 85 = 2819 x 37 —
9 2 9 6 5 3 8 0
4 6
9 8
9206 x 49 = 5380 x 68 =
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Lattice Multiplication (E) Answers

Use lattice multiplication to find each product.

0

7 2 7 0

0

4 1 4 0

0

8 1 5 0

9296 x 49 = 455,504

0 2 0 2 3

1 5 0 6 7
0 4 6 7 3

5380 x 68 = 365,840
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Lattice Multiplication (F)

Use lattice multiplication to find each product.

5 2 4 0 4 3 3 9
9 4
1 6
5240 x 91 = 4339 x 46 =
4 5 3 1 8 9 4 7
6 3
6 2
4531 x 66 = 89047 % 32 =
7 9 6 0 4 6 6 8
9 3
0 3
7960 x 90 = 4668 x 33 =
5 8 2 9 7 7 3 0
9 1
7 6
5829 x 97 = 7730 x 16 =
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Lattice Multiplication (F) Answers

Use lattice multiplication to find each product.

5 2 4 0 4 3 3 9
2 11 T3 10 7 LT T3 A 4
4, 5,/8, 6,/ 0 1L, 6, 2,/ 2,/ 6
0 10 /10 /10 /1, > T A5 6
15 2/ 40 o 4,/ 8, 8,/ 4
6 8 4 0 9 5 9 4
5240 x 91 = 476,840 4339 x 46 = 199,594
4 5 3 1 8§ 9 4 7
2 3 10 T0 ) 6 2 2 T T2 4
2 4l 0 8 6 o) 4, a2
2 3 1 0 ) 6 AT 0 1 A,
o 4,/ 0/ 8,/ 6 8, 6/ 8, 8,/ 4
9 0 4 6 6 3 0 4
4531 x 66 = 299,046 8947 x 32 = 286,304
7 9 6 0 4 6 6 8
6 18 /15 /10 /] 9 LT AT T2 A 5
3 14,0 1, 2 8, 8/ 4
0 /10 710 /10 /] LT AT 2 A 5
1L, o o/ 00 s, 2 88 4
6 4 0 0 40 4 4
7960 x 90 = 716,400 4668 x 33 = 154,044
5 8 2 9 77 3 0
7 A8 A 0 0 /0 /To 1,
s, s, 2 8 1 1 1 1, 3 0
3 15 1 16 7] 4 a5 10 A 6
o, s,/ 6/ 4,/ 3 2/ 2/ 2 8 0
5 4 1 3 3 6 8 0
5829 x 97 = 565,413 7730 x 16 = 123,680
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Lattice Multiplication (G)

Use lattice multiplication to find each product.

8 6 2 1 4 1 3 9
8 9
2 4
8621 x 82 = 4139 x 94 =
8 8 7 7 2 3 0 6
6 9
5 7
8877 x 65 = 2306 x 97 =
4 2 6 3 7 9 1 3
9 8
1 8
4263 x 91 = 7913 x 88 =
36 8 3 9 7 9 3
7 8
4 3
3683 x 74 = 9793 x 83 =
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Lattice Multiplication (G) Answers

Use lattice multiplication to find each product.

8 6 2 1 4 1 3 9
6 /14 /Tt 10 1 ¢ 3 710 12 18 ] 9
14,8 6 8 3,76, 971
L1 10 10 7, L0 A1 A3 7,
0o 6/ 21 4/ 2 8,76, 4, 2 6
6 9 2 2 9 0 6 6
8621 x 82 = 706,922 4139 x 94 = 389,066
8 8 7 17 2 3 0 6
2 84 a6 2710 15 A
5,788 2| 2 o8l 7 ol 4
N 3 A3 s 2 0 14
7170, 0, 5|/ 5 o0 a1 ol 2
7 0 0 5 3 6 8 2
8877 x 65 = 577,005 2306 x 97 = 223,682
4 2 6 3 7 9 1 3
%%61854279 6567208248
o 7To o o { 5710 12 7 ¢
8,4, 2 6, 3 o, 6/ 2/ 8,/ 4
7 9 3 3 6 3 4 4
4263 x 91 = 387,933 7913 x 88 = 696, 344
36 8 3 9 7 9 3
2> 4 5 A2 ) 4 75 0 12 ) g
o011 21 6l 1 8,2 6/ 2/ 4
L2 13 1 7 2 2 12 710 /] 4
121 4l 2| 2 i 77117 9
2 5 4 2 2 8 1 9
3683 x 74 = 272,542 9793 x 83 =812.819
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Lattice Multiplication (H)

Use lattice multiplication to find each product.

6 4 6 6 1 9 1 1
9 4
1 4
6466 x 91 = 1911 x 44 =
4 3 3 0 7 4 5 7
3 3
9 9
4330 x 39 = 7457 x 39 =
4 3 6 2 7 6 6 5
5 4
6 0
4362 x 56 = 7665 x 40 =
7 1 9 1 2 9 6 3
6 7
1 3
7191 x 61 = 2963 x 73 =

Math-Drills.com




Lattice Multiplication (H) Answers

Use lattice multiplication to find each product.

6 4 6 6 19 1 1
5713 15 775 /) 0 T3 /To /1o 1 4
s, 4,6, 4 4 o 4, 6/ 4,/ 4
0 10 /10 /10 /1, 013 /10 710 4
8, 6l 4,/ 6,/ 6 8, 4/ o/ 4/ 4
§ 4 0 6 4 0 8 4
6466 x 91 = 588,406 1911 x 44 = 84,084
4 3 3 0 74 5 7
110 10 710 A 4 2 T T2 4
1, 2, 9, 9,0 o, 1, 2 5
3 12 12 710 ] 6 /13 /14 /16 /] 9
o, o,/ 1,/ 1/ 0 o, 3, 6/ 5, 3
§ 8 7 0 0 8§ 2 3
4330 x 39 = 168,870 7457 x 39 = 290,823
4 3 6 2 7 6 6 5
2 U3 AT s 2 12 2 A2,
2 0/ 5, 00 3,84 4 0
2> T3 AT 6 0 10 710 /10 /]
a4/ 8 6 2 o, o,/ o/ 0,0
4 2 71 2 6 6 0 0
4362 x 56 = 244,272 7665 x 40 = 306,600
71 9 1 2 9 6 3
2 10 5 770 A 6 L T6e 14 12 A 4
4, 217 6 4 6 2 4 3 2 ]
0 10 710 /10 ], 02 110 /] 5
3V a1 9 1 o,/ 1,/ 8, 9
§ 6 5 |1 6 2 9 9
7191 x 61 = 438,651 2963 x 73 = 216,299
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Lattice Multiplication (I)

Use lattice multiplication to find each product.

8§ 5 1 9 6 9 6 6
5 3
0 0
8519 x 50 = 6966 x 30 =
6 0 3 1 5 8 2 5
8 1
9 2
6031 x 89 = 5825 x 12 =
8§ 0 7 8 4 8 1 8
3 8
7 7
8078 x 37 = 4818 x 87 =
9 0 6 6 6 3 4 1
9 2
1 2
9066 x 91 = 6341 x 22 =
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Lattice Multiplication (I) Answers

Use lattice multiplication to find each product.

8 5 1 9 6 9 6 6
4+ 2 710 /14 ] s 1 2 Tt T 3
470, 51, 5| 5 20,871 81 8
0 10 710 710 7 0 /10 710 /10 7
21,0, 0, o/ 0 o0, 0, o, 0
5 9 5 0 8§ 9 8 0
8519 x 50 = 425,950 6966 x 30 = 208,980
6 0 3 1 5 8 2 5
2 10 12 /10 1 ¢ 0o To 1o 1o 1
5,78, 0 4, 8 o, 5 8 2|/ 5
5710 12 710 /] 9 AT 0 1,
3,740, 7 9 6, 0 6, 4, 0
6 7 5 09 9 9 0 0
6031 x 89 = 536,759 5825 x 12 =69,900
8 0 7 8 4 8 1 8
2 10 12 12 ] 4 3 /16 /10 T6 ] g
o0, 4l 0l 1 4 a2 a4l 8 4
5 /10 14 5 A 4 2 N5 10 15 4
o, 6,0, 9, 6 18 6 71 6
8 8 8 6 9 1 6 6
8078 x 37 = 298,886 4818 x 87 = 419,166
9 0 6 6 6 3 4 1
8§ 05 5 9 L /10 /To /To /] ,
8, 11,0 4/ 4 121 6l 8|,/ 2
0 10 10 10 /] 4 1 /10 /10 10,
21,9 0l 6|/ 6 3,726 8 2
5 0 0 6 9 5 0 2
9066 x 91 = 825,006 6341 x 22 = 139,502
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Lattice Multiplication (J)

Use lattice multiplication to find each product.

6 7 9 3 6 5 8 6
8 2
1 2
6793 x 81 = 6586 x 22 =
5 5 6 5 1 2 4 3
9 4
0 9
5565 x 90 = 1243 x 49 =
9 9 2 2 1 9 6 8
9 9
0 7
6 8 2 4 2 2 6 6
8 1
8 7
6824 x 88 = 2266 x 17 =
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Lattice Multiplication (J) Answers

Use lattice multiplication to find each product.

3 6 5 8 6
4 5 7 2 8 1 1 1 1 )
5 8 6 2 4 1 2 0 6 2
0 0 0 0 1 1 1 1 1 )
5 6 7 9 3 4 2 0 6 2
0 2 3 3 4 8 9 2

5 1 2 4 3
4 4 5 4 9 0 0 1 1 4
5 5 5 4 5 0 4 8 6 2
0 0 0 0 0 0 1 3 2 9
0 0 0 0 0 6 9 8 6 7
0 8 5 0 0 9 0 7

2 1 9 6 8
8 8 1 1 9 0 8 5 7 9
8 1 1 8 8 1 9 1 4 2
0 0 0 0 0 0 6 4 5 7
9 0 0 0 0 9 7 3 2 6
2 9 8 0 0 8 9 6

9922 x 90 = 892,980

4 2 2 6 6

1 16 AT T3 A g 0 0 /0 /To 1,
o, 8,/ 4, 6/ 2 o, 2 2 6/ 6

1 6 A1 13 A g LT A8 4 A
o 8/ 4, 6/ 2 3, 4 4 2 2

0 5 1 2 § 5 2 2

6824 x 88 = 600,512

2266 x 17 = 38,522
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